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And the murderer was found afterwards - A7 KX 2 MNY

Overview

Our X773 cites one XN*°12 that we derive from the P05 of! 131 7913° XS yaxD, that if
the murderer was found after the 193y was decapitated that he is not exempt from
punishment, and a second Xn»12 that the 7109 of? P37 07 NX Twan anXI, teaches us
that the execution of 70 is done at the neck/throat (similar to 791w 72av).> mooIn
discusses 1MN7 2y °"w1s which interprets the p105 of 2van nnX different from our
N4,

= SIN9 199¥ NDY 59PN B 9¥an NNNM AYIT TN 4090PN Y9 UnINH ¥l
>"w4, in his interpretation on w», expounds this lesson (that the murderer is
not exempt even after the 773y was decapitated) from the verse of 2% 2yan 70K
*pi7, and >"v1 did not pay attention to the X711 here —

mooIn reconciles *"w1d with the X
- YWY DPY YO 1M
However it is possible to substantiate '@ despite our X123 -
- 1999 NYIYY 0T 339IW WIPNY 9N NNNI 1NINT KOYNRYT NIND 71T
For this discussion in our X9%3, where we establish the P05 of 2yan 70Xy to

compare the punishment of the murderers to an ;7919 793p that his neck is severed -
= (3,33 97 0w) NN 77 P92 NMTI 799N PIN TINT JNND NINN

Is according to the one who maintains that choking (?i7) is a more severe

punishment than 70/3777 (beheading), as is evident in nns» "7 P9p -
= 5073 01PN N¥INA 99D 999 DD PN 9INT INIYY

139,79 (°von) "a7ma.

2 v,Xd (2°VOW) O*17.

3 See 1,21 17710 (cited later in this Mpon) that (according to one opinion) we (also) derive from 7van 7nx) the entire

rule that a murderer is executed by 7°0/37771 (and that it is from the neck). See ‘Thinking it over’.

4 See footnote # 2.

5 See footnote # 2.

6 See ‘Overview’. According to the mn>>a cited here, the rule that the murderer is not exempt (even after the 723y is

decapitated) is derived from "3 9912° X7 PIR? (not from 7wan anRY as °"wI maintains in the W), and the P of

avan anR) teaches us the place on the body where the execution of 70 is done.

7 See footnote # 8 first. There is a dispute there which 70" is more nn, is it 3177 or pan. If ar is more i than 770,

we cannot derive that the punishment of a 11 32 (which is 7m) should be 70, from the punishment of an 72y

(which is %p). We may think that even though the punishment of killing an 72y is 371 (a lenient punishment),

nevertheless the punishment for killing a 13117 12 should be i which is more severe. Therefore we need to derive

the punishment of 3177 by a nx¥1 from 7917y 7239, See footnote # 3.

8 5,83 (@wown) nyw. This P1od is discussing the killing of one’s w15 7ay. It states here op> a1P1 and it states in X P
1
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For according to the one who maintains that P is more lenient than 7°°0/377

he derives the punishment of 1%°® by a murderer from the 105 of ap: awp: -
= MNN RENI 79 INNRY A2HIYN NAIYPIY I¥aN NNNY NN NY11D 790N

Therefore according to this 7"» that 5p pan, the P05 of 9yan 7Ry is superfluous
(we do not need it to teach us that a nx¥17 is executed 7032, rather) to teach the rule

that if the 793 was decapitated and afterwards the murderer was found that he

is not exempt from punishments (as *"w" explained in W) -
= (12 97 IIDT NINA PI92 NATTID 9D 199WIT 99109 KD NINDYT NI

And the P of 9212 X% P8™ (which we no longer need for 723y 1971 for we
derived it from 7van 7nXY), we will expound it as 829 did in the last P92 of ndon

NINSMD; this P05 teaches us -
$11999 709919990 DY YV 29 DY 4N N9IY NYIY 139NNT

That we are required to bring an 75v9y 7793» even though 5'"'57 passed in
between, since the killing.

Summary
We derive the laws of 770 by a murderer from 2van 70X if we maintain an pn, if

however we maintain ?p pin, we derive it from op° 23, and we utilize 2yan 70X
for 31777 XYM 2"ARY 7237 1971 (as "W explains in wm).

Thinking it over
npoIN answers that *"w1 is following the view that % i, and therefore we can

derive 7”0 from op2® 21, and wan 70X is superfluous for "1 793w 797w D"YR.
However it seems from the X3 that even if we maintain 9 Pin, nevertheless we
still need to derive from 1191y 793y that the nn°» is by the TX1¢ (we cannot derive
this from op1> 01p1), so how can we say that 2van anX) is superfluous to teach us
21 93y novaw o"yR?!10

715,95 (°Mpna) that ap3 NP3 391 03°HY XA, just as there it is with a sword (291/7°°0), so too by op2® D1 it is with a
7»0. This teaches us that one who kills his 72y, is executed 703, and certainly one who kills a 171 32 28w will
surely be killed 7”03, but not pin3, since pir is a more lenient punishment than 5»0.
% One might think that since 3", the day on which all sins are forgiven, has already passed, so there is no need to
bring the 11917 1773y, whose purpose seemingly is to forgive for this murder, Therefore the P10 teaches that it must
be brought nonetheless.
10 See o1 7w X032 ,2" w7 and 22091 'S /Y02 '0INT HYAY 2IPT NV
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